ΑΣΚΗΣΗ: Υπολογίζω την περίμετρο των παρακάτω σχημάτων:

Α)


     10εκ.



περίμετρος:

4εκ.                                           4εκ.                          

                      10εκ.

Β)

                     6εκ.         6εκ.


περίμετρος:

                             5εκ.

Γ) 

                             3εκ.                3εκ.

                          
περίμετρος: 

                     5εκ.                               5εκ.

                                         2εκ.


